

Zeitschrift: Elemente der Mathematik
Herausgeber: Schweizerische Mathematische Gesellschaft
Band: 74 (2019)
Heft: 4

Artikel: A series representation for
Autor: Alzer, Horst
DOI: <https://doi.org/10.5169/seals-869242>

Nutzungsbedingungen

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. [Siehe Rechtliche Hinweise.](#)

Conditions d'utilisation

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. [Voir Informations légales.](#)

Terms of use

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. [See Legal notice.](#)

Download PDF: 24.03.2025

ETH-Bibliothek Zürich, E-Periodica, <https://www.e-periodica.ch>

Short note A series representation for π

Horst Alzer

The classical number π plays an important role not only in geometry but also in other mathematical fields, like, for example, analysis, number theory, statistics and it has interesting applications in engineering and numerous areas of physics. With regard to its relevance the properties of π have been studied thoroughly by many authors. In particular, we can find a wide variety of remarkable series, product and integral representations for π and its relatives. For detailed information on this subject we refer to the monograph Arndt and Haenel [1], the research paper Sofu [4] and the references cited therein.

It is the aim of this note to present a series representation for π which relates π to the partial sums of the Leibniz series,

$$T_k = \sum_{j=0}^k \frac{(-1)^j}{2j+1} \quad (k = 0, 1, 2, \dots).$$

The elegant formula

$$\frac{\pi}{4} = \lim_{k \rightarrow \infty} T_k = 1 - \frac{1}{3} + \frac{1}{5} - \frac{1}{7} + \dots \quad (1)$$

is a well-known result. It was published for the first time in 1682 by G.W. Leibniz. Borwein et al. [2] offered an asymptotic formula for $\pi/4 - T_k$ involving the Euler numbers and Rattaggi [3] provided various upper and lower bounds for $\pi/4 - T_k$.

Here is our representation for π .

Theorem. *We have*

$$\pi = 32 \sum_{k=0}^{\infty} (-1)^{k+1} \frac{4k^2 + 8k + 1}{(2k-1)(2k+1)(2k+3)(2k+5)} T_k^2. \quad (2)$$

Proof. First, we show that

$$a_k = b_k \quad (k = 0, 1, 2, \dots), \quad (3)$$

where

$$a_k = \frac{1}{(2k+3)^2} + \frac{1}{(2k+5)^2} - \frac{1}{2k+3} + \frac{1}{2k+5}$$

and

$$b_k = \frac{2}{2k+5}T_k^2 + \frac{4}{(2k+3)(2k+5)}T_{k+1}^2 - \frac{2}{2k+3}T_{k+2}^2.$$

Let $k \geq 0$. We have

$$\begin{aligned} a_k &= \frac{2}{(2k+3)(2k+5)} \left(\frac{1}{2k+3} - \frac{1}{2k+5} \right) \\ &= \frac{2(-1)^k}{(2k+3)(2k+5)} \left(\frac{(-1)^k}{2k+3} + 2T_{k+1} - 2T_{k+1} + \frac{(-1)^{k+1}}{2k+5} \right) \\ &= \frac{2}{2k+5} \frac{(-1)^k}{2k+3} \left(\frac{(-1)^k}{2k+3} + 2T_{k+1} \right) + \frac{2}{2k+3} \frac{(-1)^{k+1}}{2k+5} \left(2T_{k+1} + \frac{(-1)^k}{2k+5} \right) \\ &= \frac{2}{2k+5} (T_k - T_{k+1})(T_k + T_{k+1}) + \frac{2}{2k+3} (T_{k+1} - T_{k+2})(T_{k+1} + T_{k+2}) \\ &= \frac{2}{2k+5} (T_k^2 - T_{k+1}^2) + \frac{2}{2k+3} (T_{k+1}^2 - T_{k+2}^2) \\ &= b_k. \end{aligned}$$

Let

$$A_n = \sum_{k=0}^n (-1)^k a_k \quad \text{and} \quad B_n = \sum_{k=0}^n (-1)^k b_k. \quad (4)$$

Then,

$$\begin{aligned} A_n &= \sum_{k=0}^n (-1)^k \left(\frac{1}{(2k+3)^2} + \frac{1}{(2k+5)^2} \right) + \sum_{k=0}^n (-1)^k \left(\frac{1}{2k+5} - \frac{1}{2k+3} \right) \\ &= \frac{1}{9} + \frac{(-1)^n}{(2n+5)^2} + \frac{1}{3} + \frac{(-1)^n}{2n+5} - 2 \sum_{k=0}^n \frac{(-1)^k}{2k+3} \end{aligned} \quad (5)$$

and

$$\begin{aligned} B_n &= 2 \sum_{k=0}^n \frac{(-1)^k}{2k+5} T_k^2 + 4 \sum_{k=0}^n \frac{(-1)^k}{(2k+3)(2k+5)} T_{k+1}^2 - 2 \sum_{k=0}^n \frac{(-1)^k}{2k+3} T_{k+2}^2 \\ &= 16 \sum_{k=1}^n (-1)^{k+1} \frac{4k^2 + 8k + 1}{(2k-1)(2k+1)(2k+3)(2k+5)} T_k^2 \\ &\quad + 2(-1)^n \frac{4n^2 + 20n + 17}{(2n+1)(2n+3)(2n+5)} T_{n+1}^2 + 2(-1)^{n+1} \frac{1}{2n+3} T_{n+2}^2 - \frac{22}{45}. \end{aligned} \quad (6)$$

Since

$$\sum_{k=0}^n \frac{(-1)^k}{2k+3} = 1 - T_{n+1},$$

we conclude from (1) and (5) that

$$\lim_{n \rightarrow \infty} A_n = \frac{1}{9} + \frac{1}{3} - 2 \left(1 - \frac{\pi}{4}\right) = \frac{\pi}{2} - \frac{14}{9}. \quad (7)$$

From (1) and (6) we obtain

$$\lim_{n \rightarrow \infty} B_n = 16 \sum_{k=1}^{\infty} (-1)^{k+1} \frac{4k^2 + 8k + 1}{(2k-1)(2k+1)(2k+3)(2k+5)} T_k^2 - \frac{22}{45}. \quad (8)$$

Using (3), (4), (7) and (8) gives

$$\frac{\pi}{2} - \frac{14}{9} = -\frac{22}{45} + 16 \sum_{k=1}^{\infty} (-1)^{k+1} \frac{4k^2 + 8k + 1}{(2k-1)(2k+1)(2k+3)(2k+5)} T_k^2.$$

Thus,

$$\pi = 2 \left(\frac{14}{9} - \frac{22}{45} - \frac{16}{15} \right) + 32 \sum_{k=0}^{\infty} (-1)^{k+1} \frac{4k^2 + 8k + 1}{(2k-1)(2k+1)(2k+3)(2k+5)} T_k^2.$$

This leads to (2). □

References

- [1] J. Arndt and C. Haenel. *Pi-Unleashed*, Springer, Berlin, 2001.
- [2] J.M. Borwein, P.B. Borwein and K. Dilcher. Pi, Euler numbers, and asymptotic expansions, *Amer. Math. Monthly* 96 (1989), 681–687.
- [3] D. Rattaggi. Error estimates for the Gregory–Leibniz series and the alternating harmonic series using Dalzell integrals, arXiv:1809.00998v1[math.CA] 30Aug2018.
- [4] A. Sofo. π and some other constants, *J. Ineq. Pure Appl. Math.* 6(5) (2005), article 138, 14 pages.

Horst Alzer
Morsbacher Straße 10
D-51545 Waldbröl, Germany
h.alzer@gmx.de